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L. BETHLE: (25%)

(2) Isotropic Material

(b} Nounlinear Elasticity

{c) Rigid Body

{d} Statically Indeterminate Structure

(e) Creep

2. A beam is loaded and supported as shown in -the figures. Determine

(8} The maximum tensile and compressive flexural stresses in the beam. {15%)

{b} The maximum vertical shearing stress in the beamn. (10%)

3. When the load P is applied to the right end of the beam shown in the figure, the slop at, the end

the beam Is zero. The flexural rigidity is £f. Determins

(a) The value of P in terms of w and L. (13%)

{b) The reactions &t supports A and B in terms of w and L. (12%}
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B (1) &5k Rid GHIE G E AR, A —TAR G ¢HAEL, P RERWHE =B (2)
BABRRA. EEREH RN BER, = 28751 N(iz&: F@sl (1) RA), Fu=5965 N, 7y = 8518
N, f A GEEIES SHE 35 mm, G EE Sk A4 A 50 mm; SRR 637 85425 1000 Nim,
AR FEEAME 1000 Nem #9F. Ak WREZASEA, S M B At S LIRRT B2 B . B AL 7, A R
B RBRASTHRS, OLOBMERGBART, AEEHAAUT IR H3TH.

(8) sh— BB b s P AR BPE (2) BRSSP ACNTE. LA R ASIIBA, 2, 3, 4
# A B CD(RE@Q) £P1,2 3 45 x  y & Hef-wBEGGXS, A, B, C, D & x,y A
Wit o AREREEE DX, o BSRM ST AR &AL TS T M, (Bending Moment,
My, My, 24 7148) 9 M2 A B, BTSESBRAHBERAT, #MBKHRATEAM—GHT B LT
IEATEe R AL BT (10%)

(b) HEHEBRAL, BARHTUREEL 2, 3, 45—CF, FHFHEESH &FE—R, £1F Mohr &
[ (Mohr's Circle), A4k B k4 2848 4 (principal siresses) BE XM B A (maximum shear
stress). (12%, deREFRLER A GBAXEE, WENF 4B I EE, Bhoilti)

(¢} ool FHEHBIAR A AA L (ductile) MPMHA R, WX von Mises Fik #F (b) I UFRXBARYF
2 M 77 {von Miese effective stress). (3%}
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